FEHREOECHORHERVEEICEAT HIHEE (FoEELM) AELIRE GEMM) (SRR L/AE)
SM24%£4A3H
KEA
5H HE DEE QFEE | Wik | #HEk | Q% | @20% | OHTHIR | @#EIL | Q&RHR
EHE 7 =8 DE%) | DE) | AR | LxE | O+@ | AHERE | BOE%)
HBERNE 460.8 229.3 227.0 46.9 9.3 56.2 180.1
B 4.5 175.3
-BRPE(EMA) 2.3
D=7 RER 2.2
(DAREBREXSE
KEA
iR HIHE DEE QFEE | Mk | &HE | Q% | @20% | OHTHIR | @#EIL | Q&RHR
EHE &S = DE%) | DE) | AR | LR | O+@ | AHERE | BOE%)
R 1.2 0.6 0.6 0 100 0.0 0.0 0.0 0.6 0.3
JER= 12.4 6.2 6.2 0 100 0.0 0.0 0.0 6.2 3.4
iR R 16.2 8.1 8.1 17 83 1.4 0.3 1.7 6.7 3.7
B8R 0.1 0.1 0.0
B
=
T Al 5.4 2.7 2.7 0 100 0.0 0.0 0.0 2.7 1.5
NYiz! 15.1 7.6 7.5 0 100 0.0 0.0 0.0 7.5 4.2
=& 62.5 31.3 31.2 0 100 0.0 0.0 0.0 31.2 17.3
BERS A 14.2 7.1 7.1 0 100 0.0 0.0 0.0 7.1 3.9
ik
3 N ET
& H 4 0.6 0.3 0.3 0 100 0.0 0.0 0.0 0.3 0.2
BE 9.7 4.9 4.8 0 100 0.0 0.0 0.0 4.8 2.7
N 191.9 96.0 95.9 0 100 0.0 0.0 0.0 95.9 53.2
LzhT:H] 0.1 0.1 0.0
% ElfHE 0.4 0.2 0.2 0 100 0.0 0.0 0.0 0.2 0.1
TRS 0.1 0.1 0.0
K AHET 12.4 6.2 6.2 0 100 0.0 0.0 0.0 6.2 34
BiRE
4
a2E
B
pi=|
=R
& £
&b 342.3 171.5 170.8 1.4 0.3 1.7 169.4




QTEERE (BEMKR2/4E)
KER
it IS OEE | @& | #HE | &8 | @%% | @20% | OWIHIR | E’IEIL | DR
EHE &S = DE%) | DFE) | AR | LR | O+@ | AERE | BOE%)

N
i 23.3 11.7 11.6 95 5 11.0 2.2 13.2 0.6 0.3
JER=
HriRmHET 53.5 26.8 26.7 80 20 21.4 4.3 25.7 5.3 2.9
A KE
BriR
B 0.5 0.3 0.2 100 0 0.2 0.0 0.2 0.0 0.0
=
TRl 0.1 0.1 0.0
INR
=
Sk
& H 41 0.1 0.1 0.0
HFE
N
LT
2 EH
TRA
K AHET 0.4 0.2 0.2 50 50 0.1 0.0 0.1 0.1 0.1
B4R R 0.1 0.1 0.0
a5
4 0.1 0.1 0.0
a2E 0.1 0.1 0.0
RE 14.0 7.0 7.0 70 30 4.9 1.0 5.9 2.1 1.2
%) 16.2 8.1 8.1 70 30 5.7 1.1 6.8 2.4 1.3
Ry HF 1.4 0.7 0.7 80 20 0.6 0.1 0.7 0.1 0.1
INEEFR 0.1 0.1 0.0
=k 0.1 0.1 0.0
b= 1.0 0.5 0.5 80 20 0.4 0.1 0.5 0.1 0.1
N ETR K 1.3 0.7 0.6 95 5 0.6 0.1 0.7 0.0 0.0
TR A 0.2 0.1 0.1 100 0 0.1 0.0 0.1 0.0 0.0
=R 0.9 0.5 0.4 100 0 0.4 0.1 0.5 0.0 0.0
BARHET
il 0.1 0.1 0.0
I\EHTz&E 0.1 0.1 0.0
I\F#H 0.1 0.1 0.0
I\FHEE 0.2 0.1 0.1 100 0 0.1 0.0 0.1 0.0 0.0
& £ 0.1 0.1 0.0 100 0 0.0 0.0 0.0 0.0 0.0
=10 114.0 57.8 56.2 455 9.0 54.5 10.7




(FFHAR3/4E)

INEUfR
5H HE DEE QFEE | Wik | #HEk | Q% | @20% | OHTHIR | @#EIL | Q&RHR
EHE 7 = DE%) | DE) | AR | LxE | O+@ | AHERE | BOE%)
=11 256.3 128.4 125.5 65.9 13.1 79.0 59.3
B 2.4 48.9
-BRPE(EMA) 1.3
D=7 RER 1.2
(DAREBREXSE
INEU 4R
iR HIHE DEE QFEE | Mk | &HE | Q% | @20% | OHTHIR | @#EIL | Q&RHR
EHE &S = DE%) | DE) | AR | LR | O+@ | AHERE | BOE%)

RH 6.4 3.2 3.2 0 100 0.0 0.0 0.0 3.2 5.4
JER= 19.7 9.9 9.8 0 100 0.0 0.0 0.0 9.8 16.5
iR R 29.3 14.7 14.6 20 80 2.9 0.6 3.5 11.7 19.7
B8R 3.6 1.8 1.8 50 50 0.9 0.2 1.1 0.9 1.5
=y 0.1 0.1 0.0
=
T Al 8.2 4.1 4.1 0 100 0.0 0.0 0.0 4.1 6.9
NYiz! 29.6 14.8 14.8 0 100 0.0 0.0 0.0 14.8 25.0
= 1.9 1.0 0.9 0 100 0.0 0.0 0.0 0.9 1.5
BRS A 0.3 0.2 0.1 0 100 0.0 0.0 0.0 0.1 0.2
ik 0.1 0.1 0.0
R HET 0.1 0.1 0.0
{EFHH 0.2 0.1 0.1 100 0 0.1 0.0 0.1 0.0 0.0
BE 0.6 0.3 0.3 0 100 0.0 0.0 0.0 0.3 0.5
N 8.5 4.3 4.2 100 0 4.2 0.8 5.0 0.0 0.0
LzhT:H] 0.1 0.1 0.0
Z EfE 0.2 0.1 0.1 0 100 0.0 0.0 0.0 0.1 0.2
TR 0.1 0.1 0.0
K AHET 1.4 0.7 0.7 50 50 0.4 0.1 0.5 0.3 0.5
BiRE
4
a2E
B
pi=|
=R
& £
&b 110.4 55.7 54.7 8.5 1.7 10.2 46.2




QTEERE (BEHKR4A/4E)
INBYTR
it IS OEE | @& | #HE | &8 | @%% | @20% | OWIHIR | E’IEIL | DR
EHE &S = DE%) | DFE) | AR | LR | O+@ | AERE | BOE%)

N
i 29.1 14.6 14.5 95 5 13.8 2.8 16.6 0.7 1.2
JER=
HriRmHET 76.4 38.2 38.2 80 20 30.6 6.1 36.7 7.6 12.8
A KE
BriR
HAf 0.5 0.3 0.2 100 0 0.2 0.0 0.2 0.0 0.0
=
TRl 0.1 0.1 0.0
INR
=
Sk 0.1 0.1 0.0
& H 41 0.1 0.1 0.0
HFE
N
LT
2 EH 0.1 0.1 0.0
TRA 0.1 0.1 0.0
K AHET 0.9 0.5 0.4 90 10 0.4 0.1 0.5 0.0 0.0
B4R R 0.2 0.1 0.1 0 100
a5
4 0.1 0.1 0.0
a2E 0.1 0.1 0.0
RE 10.1 5.1 5.0 70 30 3.5 0.7 4.2 1.5 2.5
%) 19.7 9.9 9.8 70 30 6.9 1.4 8.3 2.9 4.9
Ry HF 0.7 0.4 0.3 70 30 0.2 0.0 0.2 0.1 0.2
INEEFR 0.1 0.1 0.0
=k 0.2 0.1 0.1 0 100
b= 1.0 0.5 0.5 80 20 0.4 0.1 0.5 0.1 0.2
N ETR K 1.2 0.6 0.6 70 30 0.4 0.1 0.5 0.2 0.3
TR A 0.3 0.2 0.1 100 0 0.1 0.0 0.1 0.0 0.0
=R 1.0 0.5 0.5 100 0 0.5 0.1 0.6 0.0 0.0
BARHET 0.1 0.1 0.0
il 0.1 0.1 0.0
INE#HIEE 0.2 0.1 0.1 0 100
I\F#H 0.1 0.1 0.0
I\FHEE 0.5 0.3 0.2 100 0 0.2 0.0 0.2 0.0 0.0
&£ 0.4 0.2 0.2 100 0 0.2 0.0 0.2 0.0 0.0
=10 143.5 72.7 70.8 57.4 11.4 68.8 13.1




